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‘121 AlH| O|EY AlR

O 2012HE NANUNZAAYOR Feidt 2ots I FDEEI0| X}
LHAI(48 2FHE2)EI0 AIHIE 20124 S 204 @ FH0I BLEK 28
O 2012HE AlHIZEAUS 2013HE Oflarol B4
4| IEEAE
O HIE XX : 20128 NANUHNZAAY ALXZ HBE XXI2(6HP)
O Oll&r THHIZ (AlHI)
- OIS ;132
- MADE : ORUZANEIS, ORIZENE, IAR2ASHA, Al&HI @001
- HHE X2 : RD2EANY WEHISH B2 AIZES Ml
- THHHE Lo (el ma)
I y  IHEA(2E) HHIA(18E) IX P 2l 2
(=H1 30%) (AIHIl 40%) (2H1 30%) (XEXI=2)
= Al 3,300,000 1,000,000 1,300,000 1,000,000
s+ 130,000 40,000 50,000 40,000 -
g 5 7 520,000 160,000 200,000 160,000 -
28+ 330,000 100,000 130,000 100,000 -
250,000
2 A 1,000,000 300,000 400,000 300,000
(128 2=g)
dSE+ 660,000 200,000 260,000 200,000 -
_ 140,000
S o+ 660,000 200,000 260,000 200,000 (1od ==x2)
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